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1. Choose the correct optlon of the followmg :
1x8=8

ﬁﬂ%ﬁ?ﬂﬂ%@@mﬁ@%@m°

() What is the primary advantage of the
‘Brick and Click’ Model ? :

B oI B wie i JRAG e

(a). No need for physical space

- (b) Offer flexibility .to customers in
terms of shopping mode

Contd.



mwmﬂﬁﬁamaﬁw
emm o

-.‘(c) - Completely online
STenfaCet SR

: (d) ‘No digital presence needed

R SRR mem AR

(i) Which of the following is not typically
a step in strategic planning process ?

R AT TS GeTTS AR
@ Envirenmental scanning
oRcet o
(b) .Formulati.on'of strategy
(c) E#ecxition of employee |
" performance reviews
(d) S‘ﬁ'ategj.r: implement_ation |
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(iii) " In the communication process, who is
responsible for decoding the message ?

mmﬂm—mmmwmﬁﬁ

IR @oo?
(a) Sender
(€S0
(b) Medium
RIRIN
(c) Receiver.
SR
(d) Feedback channel
RPN (O

(iv) A self-confident leader whose
personality and action influence people
to behave in certain ways is called

g SERRET (ol TR ey wiE e
T2 WS S5 IR doiRe FE (08T
woTe SRR @i @R m{%m}wm?

(a) Participative leader

SR Tl

(b) Chariématic leader

RS e (ol
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(c) Autocratic leader
GIRa (o
(d) Permissive leader

A CRISGRE O

(v) Which of the following is not within
the formal process of communication ?

TG GIFTH TR SPIF e fooge
RS K .
(a) Encoding
AP OTC
(b) | Interpreting
5 ele
(c) Decoding
AFCO@IS
(d) Feedbackv

(vi) The plan to achieve overall
organisational goals is called

TSR AN 575 S[&s I 91 AR
RS (@GR B[ @ e
(a) Strategic plan |

STl AR
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(b) Tactical plan

(é) Operaﬁonal plan
e AR

(d) Standing plan

(vii) Motivation is a stimulation of mind

under the maﬁagement function of
TR G AP BeREE ol Wene
I ARG IR TS ?
(@) Directing
FotmR S
(b) Organising
FHRorowT IR
(c) Controlling
e o
(d) Co—ordinating

TR _Y
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(viii) Organisation where expert assistance
is provided. to the line managers are

eolsw, T (AR SRR AR Rees
FRITS (AN T GIREIE R
(a) Line organisati_on
&R ARatod
(b) Functional organisation
’ RS WIS
(¢) ‘Line and staff’ organisation
R o 3 IAofea
(d) Project organisaﬁon

APE AN

2.  Write short answers on the following : (any
six) 2x6=12

ﬁkﬂ@=ﬁﬁmwgsaeﬂmssgﬁﬁgaﬁ#ms (Ric1zt
)

() Why do companies prefer for
franchising ?

R AITPIR ‘@R [y g FEe
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(ii) " Write briefly two techniques commonly
used in the decision making process.
Pl 2zt eifEFars AR I92R (@R 757 AT
LR CRER |

(iii) Briefly state the relationship between
planning and controlling in
management.

TRCFCA JIP FAL

(iv) List three essential trait of an effective

leader. '

& IAF]! (O Fﬁﬁ‘rwﬁﬂﬂ e
WWl

(v) Write the main features of Theory X. -
©g X1 Y Wz ot
(vi) Mention the problem of dual

accountability in matrix organisation.

iGE WatoTe Bbize @QWW
Bocai .
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(vii) List out at least two areas where
managerial control is considered
necessary.

vﬁmwﬁnmwruﬁaq%www
WWWW|

(viii) Creativity in decision making.
Frarg sz e | |
 (ix) What is virtual organisation ?
- oRfbge e {2
(x) What is work from home ?

W9 ORI P WA e

3. Answer vany Jour of the following :5x4=20
- Fewre ficerr 5196 Sew T

i) Explain the concept of strategic
| 'planning.

Wﬂsﬂﬁwmamwmmn

(i) Define bounded rationality’ and its role
in decision.making.

TS IR st foat o Bars e
2N R i |-
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(i) What are the three core elements of
. delegation of authority ?

Tl UGN fOING! o1 oA 2

(iv) Discuss the factors that can affect an
- individual’s .motivation in the
workplace.

TS & TG TS LOR (SR 71
I (PHR RIT AN 90|

(v) Explain the steps in decision making:
i a1z TS SIReTE FRREATA AMCTFoPRE
I 0|

(vi) What is the laissez-faire or free-rein
leadership style ? In what type of teams
or setting would this leadership style
be most effective ?

‘Laissez-faire’ (g9 0o 52 (PR 4991 et
A ARES G2 (Y O T FIGFR T2

(vit) Explain Matrix organisation structure.
Matrix o9 SR 1t = |

(viii) Why is informal organisation no less
important than formal organisation ?

WH\WWWWWW 4

@V"i‘f{%’i SSEECES
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4.

Answer any two of the following :

Feste ez g e e
o

(i)

(@)

10x2=20

Discuss in detail the difference between

micro, meso and macro environment

. in busmess

QRMFH‘TE Gm'ﬁm$§iﬁ9ﬁ%§ﬁ€ﬂmﬁ‘Qﬁﬁ
1Yy LR SIS 4 |

Elaborate on tljie four pillars of corporate
social responsibility. (Economic, legal,

ethical and philantrophic obligation)

e i TR 51F5 o wel R
ReReeir P 71 | (TILffes, =iz, (o
oI Wi W)

Discuss the role of IT and social media
in communication in business

organisation.

aﬁawchﬁﬁ—"éﬂxagﬁ?vmaranm%ﬁssnmwa -
RN e gﬁ#$rvmaicﬁﬁzﬂwr“

- SIICEG 3 |
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(iv) What are the some potential failure
reasons and success factors for
business process re-engineering ?

A elferl oS Re sty ol
I WIS FFeTON GoAmI F [Fe

(v) Evaluate the importance of work-life
balance in today’s corporate
environment. :

TSN ARG ARE© TG SFANR
| SR TR 9 '
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